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Time : Three hours Maximum : 75 marks
SECT_IONVA — (10 x 2=20 marks) -
Answer any TEN Queétions. |
1.  Define the term finance.
- B erenuigen @é)é;e#em& S(155.
2. "What ai'é the wain to obi;t;ih long‘terrﬁ sources of ﬁnaﬁce?
gﬁeéur]_a;nw ‘rﬂﬁﬁmu_lz Q}JQ}G)Jg;!_f)‘BErI;GUT a.n(.ﬁ]qpmgba;eh wreneu?
3.  Listout the {funct‘ions of financial management.
Bllweh Goaramanoufiar ualsmer auflamsiLEsis.
4.  What do you mean by financial leverage?
HElullwed Qi,r_bmebrrg,-rrunb GTEHDITE) GTEHTGH?.
5.  Give the meaning of debt-equity ratio.
BL6iT SLOUkI, aﬁiélg,tb erenuge QUITHET &(me.
6. Writea shbrt note on net income épp_roach of capital structure.

gpger sewliden flar aumbrer SignGuwenawt upb A GOy
uUMIS. .

7.  State the different methods of computation of cost of capital.
PRSI L E&FMS sensdHid LCGam papasamen GINIEICE:S
8.  Distinguish between historical cost and future cost.

Ggreeny  SI_sssHDGD  erdisne al_é;a;g,g),r_i)@b e Cuiwimen
Caupum_iy vens Sms. '

9. What do you mean by permanent working capital?

Rrpdy penL_penp WS arempmed eremen?

gl fanadement

man

\
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10.

11.

12.

13.

14.

What are the components of working capital?

‘;r,cm_@m,r_o APOGETSE 6T CLPEO & ST U_Il'liGF)QJ?

What do you mean by dividend policy?

UBISTSTLE QSTETns eTampITe) eTeman? |

State the advantages of stock dividem‘i.

2aIGaL LRISTSTILSS 6 Heranosemars @GOl h\s.

SECTION B — (5 x 5 = 25 marks)

Answer ;my FIVE ques;tions.

Discuss the objectives of financial management.

Hllulwied Cuaramenouden Crrésnisamen efleuil.

Sarathy limited are engaged in retailing. You are required to
forecast their working capital requirement from the following
information. i

Annual sales Rs. 6,50,000;

Percentage of net:profit to cost of sales 25%

Average credit allowed to debtors 10 weeks

Average credit allowed by creditors 4 'w-eeks

Average stock carrying (in terms of sales requirement) - 8 weeks
Add 20% to allow for contingencies.

ampd NBGL L ey edwrumgdléd UL Heratent. SpdaemL
durisallmig  euisallar  paLgan s GCameumws
SanTsE (H 6. ‘

<aH efllbuener ep. 6,50,000

aflpuemar SiLssefaaudo Hlar Gemub 25%

sLamafls@psE euphislu@®b syrafl sLer sreb 10 cumphiser
a;Leo‘?‘r_'r,CSg,_rrr'r QULPMIGLD gymefl ST STLD 4 GUNTRISGET

gyme sradmliy (Spuamen Coameu oig il ule) 8 aurpriser

Blapeuan flapsflssEnssns 20% smLeyb.
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24.

“A company wishes to determine the optimal capital structure.

From the following selected information supplied to you,
determine the optimal capital structure of the company.

Situation Capital Debt Equity After taxcost Ke

_ Rs. Rs. of.debt
1. 4,00,000 1,00,000 9% 10%
2. 2,50,000 2,50,000 6% 11%
3. 1,00,000 4,00,000 5%  14%

@ Hniwb 2§50 apagan s@wlemu Hivrallss 2 5658555 G

Qar@&ssiiul L Qerer  seuswselcl®bg Hmogdar 2 &30  ppaSen
ienlienu Hlimeafléseb.

Gpflane ST LIk afiég YGneg  Ke

(1. em. &L_6I S|L_&&LD
4,00,000 1,00,000 9% 10%
2,50,000 2,50,000 6%  11%
1,00,000 4,00,000 5% 14%
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22.

23.

Sales of a company is Rs. 75,00,000. Fixed expenses amount to
Rs. 6,00,000 and the variable expenses is Rs. 42,00,000. Equity
share capital of the company is Rs. 55,00,000. The companys
loan amounts to Rs. 45,00,000 at the rate of 9% interest. Find
out

(a) Return on investment

(b) Whether the financial leverage is favourable

(¢) Calculate combined leverage

(d) If sales decreases to Rs. 50,00,000. What is EBIT?

e Bpogdler elpugmen . 75,00,000. flenevé QFavey @p. 6,00,000,

wron  Geewelland . 42,00,000. oiger  SFOLUBIEG  APOSEID
em. 55,00,000 igeir sL_air ap. 45,00,000, 9% eul_iy 6iss55 60

(=) <pBlmisSen pseS g6 Guilés L (HLD Gu(heuTul WTgl?
(=) B YHpeOrgmUD STESLONS 2 dTeTgm?
(@) &l B AHOOTSTWLD 6T6TE?
(F) oigen ellpuenen @. 50,00,000 eram GepmBETD QUL Ly LOHHILD
aufl&EE apheag @omuib eTelaieme]?
Following are the details regarding three companies.
‘A’ Ltd ‘B’ Ltd ‘C Litd

r =15% r= 10% r=8%

Ke'l= 10% Ke=10% Ke=10%

E=Rs.10 E=Rs. 10 E=Rs. 10

Calculate the value of equity share of each of these companies

under Walters approach when dividend pay-out ratio is
(@) 0% (b) 50% (c) 60% (d) 100%
epenm) Blmiomkisafler afluipb Wemewmm)
‘A fmwnd B figwn  ‘C fipwn
r=15% r=10% r=28%
Ke=10% Ke=10% Ke=10%
E=Rs. 10 E=Rs. 10 E=Rs. 10
aureoL  qpepuiler gpermy  Hmwhsaflar  sourifler WS Gman
emeumid LBISTSTW eulphi@ eNdsibd Cung seamédi_ey.
(1) 0% (=) 50% (@) 60% () 100%.
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15.

16.

17.

From the following information you are required to find out the

extent of operating leverages in the year 2001.
|

Rs. Units
EBIT (2000) 30,000 Sales (2000) 1,50,000
EBIT (2001) 35,000 Sales (2001) 1,80,000

Epsasam_  euphsallafimbs 2001 b . y@TgHETST BOLAP®D
QAL GCaTe6n ojereney samrasHHibLg CauarLiLIGEDS!.
- AV GEeT
EBIT (2000) 30,000 efpuener (2000) 1,50,000
EBIT (2001) 35,000 eflpuener (2001) 1,80,000

The market price of a share is Rs. 140 and a company plans to
pay a dividend of Rs. 9 per share. The growth in dividends is
estimated at the rate of 10%. Find out the cost of equity capital.

@ untifler sheng WL 5. 140, bHombd Hmwbd whdDG . 9 aisibd
uRsTSTWD Carh&Ess S LBl Harerg. ubsrsmy eammésdl elldsn
10%  een  eHiiumissLuGSng. ersmraw  ukdar  wHleL
sanr(HLlg &

From the following data, find the value of each firm as per the
MM approach.

3

Firm ‘A’ Firm ‘B’
EBIT  Rs.1,50,000 Rs.1,50,000
Number of shares 30,000 25,000
12% Debentures - Rs. 90,000

Every firm expects 12% return on investment.

Gemaumpd  eflupmsefalpig MM oemigepanudd  paGeunm
BneuansSpEn wHlimus samsd(Hs.
Byeamd ‘A’ Hipeend ‘B’

ey eufl Qeanggid aper @eorud  ep. 1,50,000 em. 1,50,000
U@ saflen ereirenflEens 30,000 25,000
12% sLanm ugHyid | - ep. 90,000
gaiQeun Fneuarsden erdlirumiiiy wpgeS e g 12%.
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The present share capital of Arul Ltd consists of 1,000 shares . Average  Estimate for
selling at Rs. 100 each. The company is contemplating a period of  the first year
dividend of Rs. 10 per share at the end of the current financial credit Rs.
year. The company’s capitalisation rate is 20% against risk. The ;
company expects to have a net income of Rs. 25,000. What will Other overheads 2 months 7,50,000
be the price of the share at the end of the year if (a) Dividend is : Sales Cash 2,00,000
not declared and (b) Dividend is declared? . ’

: i ’ th 60,00,000
Si@er fpeuagder sHCuremgu LRGsd 1,000 LBiGser @. 100 Oditgales gmonths
ofpd . elpmded e dram_mifudrang. pLOy HHuramgear Qpdudis : Average amount of the stock
Bgob ubGsramss . 10 oisb URETETLL ks oderg. and work in progress -. 4,00,000
‘lﬂg}]w,&)ﬁ o @uuidpdsfyren epagar ofsd 20% Ed. Ao Average amount of undrawn profit - 3,00,000

adiuniéen Her @omub @ 25000 aafld (o) ukstgmub
<ifleflssns Gurgid HoIb () uBSTSTLLD agﬂsﬁ]gg, Gungib

It is to be assumed that all expenses and income were made at
uiidlen gandler @nidlelleae eremugmen seam_(s.

‘event rate for the year.
A Ltd Co has the fo]lowing details r=15%, Ke = 10%, E = Rs. 8

g.-.- Gﬁ] » ﬂ'ﬂd‘ . LS ".é‘ .lgl..aS]. . o . .
Calculate the value of an equity share when dividend payment o oy e @pgl Sermfl iorided Sl fgiosfer pLii

ratio is 50% under Walters approach. epogars Comanlmans saréd Hs.
A fipieuengden eNLipriiger Qemeumomy. syrEf sLem Wsd
r = 15%, Ke = 10%, E = 5. 8 | ' e e U
’ O oSISH e
@ s 50% erafla e .
;?zﬁn;m ;%ii;s ﬁg‘:) Gr @ en.oumJ@ @mﬂ)‘lm Loﬁu i gpeliGummer Qararpsa . 6 eunmymIgeT 26,00,000
o : ) 1Y% 156l 19,50,000
SECTION C — (3 x 10 = 30 marks) o e
e Cuadlss Qemeygser :
Answer any THREE questions.
aurLang aufl psedlwiet 6 rshseT 1,00,000
Describe the different short term sources of finance. , ‘
. 3 . 0 0
Goéu st fiflew Quneugnater LOCan auflapamnaamer edleur. =il 1 omgid 08,00 .
WpCGuadss Qsmeaysdr 2 TSEISET 7,50,000

From the following details you are required to make an
assessment of the average amount of working -capital _ e pLiener : Qrrésd 2,00,000
requirement of Meenakshi Marbles Ltd.

e O s e &Lt eflhLianer 2 rgmigeT 60,00,000
period of  the first year gynafl sr&Hmiy wHmb W wng
, credit * Rs. _ FTEG : - 4,00,000
Purchase of material 6 weeks 26,00,000 aRESLILLTE syrah @wnqgﬁ;g,nmﬁ o 3,00,000
Wages 1 % weeks 19,50,000
Overheads : ‘ 5 - ' QbS eTIG D ADAES aupeflanmbis@pd, Caaeilanmbisenbd 5Loa§g,;_r,§1m
' Rent rate 6 months 1,00;000 Qeiiwutiu@apen arar sigiorallSsILOEDS.
Salaries ' . 1 month 8,00,000
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